Sympy

R#DI=-HDE21—)L
=k, NEhiR. 15380, &k, R, #ExHE., fEFELE

from sympy import *

=1/3 :
nggmm 3 0. 3333333333333333 «— 2 £{
. ’ . N\ Z\N =1
or int (a) y 13 —Rational(53F. 73 &)
print (b) _ .
print 0 0.333333333333333 —NGTDIE)—RHiRE )
‘ ot Eﬁ EE> 320)) 0. 33333333333333333333 —N(FTDIE. HTE)—FEH#ILE
orint (N (pi, 20)) 3. 1415926535897932385 pi  FEZE o
print(N(E,20))  ==> 2.7182818284590452354 E BARAWNBOE(RAETE)
print (N (oo, 20)) 00

oo HERK




a=Rational (1, 3) A s
b=Rational (5, 6) L ESENINRCARN R

print ((a+b)@d2) =) 49/36
1+52_ 7\* 49

3 6/ \6/ 36

import math

from sympy import *

al=sqrt (32)
b1=sqrt (24) 5 a=4*sqrt (2), b=2xsqrt (6)
print (" a=%s, b=%s" %(al, b1)) Sympy\’{ 16-v3

pprint (al*b1) — a=9. 606854249492381, b=4. 898979485566356

~ '%: 27.712812921102035
a2=math. sqrt (32)

b2=math. sqrt (24) i
print (" a=%s. b=%s' % (a2, b2)) pythOn
pprint (a2*b2) _




import math Etd) _;E'ﬁ (x + 2)3

from sympy import * x=Symbo| (" x")
re=(X+2) %3 ::> X*%3 +l Gkxkk2 + 12%x + 8
x=symbols(x') =P XWZ+ 4 -6 print(expand((re))) 43 1 gy2 4 125 4+ 8
regzx**2+4*x—6 expand(z()
print (res)
symbols( "x \ x ; e
S{/mbol é 4 ; —x&EWLIVURIVIERL S Ay o
from sympy import * x?—x“—x+1
x=Symbo| (" x) _ l
r e=Xkk 3= Xk 2—X+] == o D2 (e )
from sympy import * print (factor ((re))) (x — 1D?(x + 1)
x=Symbo!| (" x") .
rel=(x+1) %2 factor(zL)
re2=2%x+7 (x + 1)xk2
print(rel) :> 2%x + ]
print (re2)
print (rel+re2) 20+ (x+ a2 + ] 2
SFint O I 2x+(x+1)2+7
print (simplify(rel+re2)) xkx2 + 4xx + 8

2
simplify(zX 1+ 2) x°+4x +8



FEDORA

X, y=symbols (' x y')
r e=xkk2—2%y
print(re) X¥K2 = 2xy

print () —>

print (re.subs ([(x, 10), (y,20)])) 60

 I— |

subs[( VRV, E). (rRIL,E). -

HIEXZAE<
x=Symbo| (" x") 2

r e=X¥k2+2%x~8 X+ 2x—8
print(re) [::$> X*kx2 + 2%xx — 8

print (solve(re)) (-4, 2]

ZrAERN

(x, y)=symbols (" x y")

re=(x+y) *%2-9 (X + Y)Z -9

print(re) (X + y)*x2 — O
print(solve(re)) [{x: 3-vy}l. {x: -y -3}
print()

print('x=%s'% solve(re,x)) y=[3 -y -y - 3]
print(y=%s"% solve(re,y)) y=[3 - x, -x - 3]

(x+y))—-9=((x+y+3)(x+y—23)



EIFER

(x,y}=symbo|s(’x ‘y”) 2X+6y+4‘:() x-l_—y=i§c1:@_ ;
rel=2exsGy 4 (x+)? =9 =0 TN
re2= (x+y)**2-9 2%x + 6%y + 4 11 5
print (rel) |:> (X + y)%*k2 - 0 x =22 x=—  y=-—j;
print (re2) ({x: =7/2, y: 172}, {x: 11/2, y: -5/2}]

print (solve((rel, re2))) 2x+6(—x—-3)+4=0

7 1
4x = —14 x==—- y=3

PythonMDi5&.
y=x&EELE yITXERALELSEKRIZZAD T
OZE#H1==1, ZTH2==K2LL T solve((xX1. X2))THEXZHEIH
Q@ZE#H1=Eq(£il. HiR)EEH2=Eq(LiZ. HB)ELT solve((H 1. X2)) THEXZHED

from sympy import *

(x, y)=symbols ("x y")

rel=Eq(y, x¥k2+6%x+2) Eq(y, x®k2 + 6%x + 2)
re2=Eq(y, (x+2)#x2) [ Eq (y, (x + 2)%%2)
print(rel) [{x: 1, y: 9}]

print (re2)

print(solve((rel, re2)))



diff (X, 2RIV, BEED)

’/ﬁl&ﬁj\ 2x3
3 _ 3
from sympy import * ™5y 1in(1)2(x +y) 2%
(K.Y):S'}’mb(}lS('K y') 6*;{**2 v 2 y= y
r e=2kx0ek3 I:> By ik 6x 6(x+y)% — 6x2
print (diff(re, x)) 2EM 4y lim
print (limit( (2*((53:) *%k3-2%x%%x3) /y, y, 0)) 13*}‘ M y=0 y
print (diff(re, x(2)) *X 12x . ST
orint (1imit ( (6% (x+y) #k2—-6%xxx2) /y. v, 0)) limit (=X, &2 R)L 1BER{E)
Y
from sympy import * 253
x=Symbo| (" x") o .
o=l | ®% integrate(z£,x)
print (integrate(re, x)) :> xikd /2 x4
print (integrate(re, (x,0,1))) 1/2 7

[ zxsdx=[§r:1 —EHES integrate(t,(x, TR, IR))



